+8.55=(+13.17)
il

+8.55=§+13.17)

9.00
-0.45=(+4.17)

bl b bl bl i i b 5
EEE 4 £0. .62) “=¥:" A

7

:B0E .P.P

FID AN

T £8.55=(+13.17)

e ——
i e e i i

500 .R.P

NRITT AN

+8.55=(+13.17)

== B [ B

( DN 19 TN O"OITD2N D22 DN - O™I02 0IRIDNN 0NN )

Nou

e A TR T R e R ks
e S
+8.55
(+13.17)

------------------------------

b R b

-----------------

-------------------

LA e el

o 4 Aiiis

Tu 8T {-p-\*a Y Tl
Pty

pdeytids P fﬁ:*-' 2‘: ?—a r.,‘ 52 (i
Dot R ';% '3;-!_#'! @f?’é‘uvw;_fﬂ@,r o

<721 'NAI7D |IONN

x

TN N7 IONN———)

e71gs N ‘on O"DYIN - A0 NI @ NDONN i

TTWN 'DIPD 112N 2NN

68/101/02/3 oD DN

50/101/@2/3 ‘DD WNND N'DNT W Ann
(] (A Tinn

: inoJ

i

wn

: nipm

: NDNN NOW

‘\m‘%m —
QAN

12 NO0)
RIRRIS

AUTIN2 NIANN NTNVN N'N2R 2"n)
OMNPpY 0oNN. M2 P .Nan
(. NIOMON T 1NN DIpn

<IN ™A LDMAD O OIin 5 onn an

< INTTTT ™M DN O 7N 2 APEN "

3-6738476 .0DD @3-6738478 .70 1" 18 DOIXN NTAUN

n ya ﬁp I - owwan nenn

13 2-?37( "N gen poan

J
w{ 5/

U id

o

Iz

S

0 .R.P

A/ ) S 1) 7m) BT o )

1800 .P.P

A J1°DDIN

:B6E .B.7

ol

092 NP NN

1500 .R.7

AR AIDA

1"¥3 (1995) DIDAIN IS ponpn novn
17 19 DA

1:8@0 = DTN NP
@3 \ @0 : NN

@3 \ 2eee .J M - IIND




